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HE 0 $H-81 o s T8 27
(1) Ffa & AR (2) fgd® g & Hn
(3) wd A wEEAa F AUFR (4) Gy ITER F AUFR

Fundamental Duties were inserted in the Constitution by

(1} 42nd Amendment (2) 44th Amendment
(3) 47th Amendment (4) 49th Amendment
qa e # afuE & st e

(1) 4231 gdoUA g (2) 4491 FIMEF g
(3) 4791 HEAYA g (4) 4991 FER g

Right 1o Education” was inserted in the Part III of the Constitution by :

(1) 82nd Amendment Act (2) 85th Amendment Act
(3) 86th Amendment Act (4) 89th Amendment Act
afagm ¥ dat 9w § fen w1 sfuewr’ wive G om

(1) 82al wuieA sfufEd gr (2) 85a1 e U gm
(3) 86d1 dviad fufEE g (4) 89a YA HiufaH g

What is the meaning of lex loci?

(1} Law of land

(2) Sovereignty is essential for enacting laws
(3) Law of land is supreme

(4) Crown has supreme authority

29 (P.1.0,
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INSTRUCTIONS TO CANDIDATES

o anly hlue/black ball-point pen 1n the space above and on both sides of the OMR Answer Sheet

L. Within 30 minutes of the issue of the Quggliemsgpklet, check the Question Booklet to ensure thai
1t contains all the pages in correct ggatnce ane no paprmaguestion is missing. In casc of fauln
Ouestion Booklet bring it to thegdtice of the Superint dent /Migilators immediately to obtain ¢
fresh Question Booklet,

2. Do not bring any loose papgf, written Examina¥on Hall except the Admit Card

3. A separate OMR Answer Jhect 1 gig€n. Ided or miilated. A second OMR Answe
ot chall not he provided. Only the OMR Answer STie il be cvuated.

4 Write al the entries byfblue/black ball gprovided agpove.

."J"l_

On the front page of fhe OMR Answer Pheet, write
provided at the top, jnd by darkening ghe circles g
Booklet Number, Cenfre Code Number ang the Se
places.

6. No overwriting is allowed in the entries of Roll No., Questig@”Booklet No. and Set No. (if any) on
OMR Answer Sheet an§ also Roll No. and OMR Answer S#€et Serial No. on the Question Booklet.

y pen youj Roll Number in the space
the bottgfh. Also, write the Question
ber (whegfver applicable) in appropriate

7. Any change in the afore 2id entries is to be verifjcgs#® the Invigilator, otherwise it will be taken as
unfair means.
8. Each guestion in this Bookle wCd by four alternative answers. For each question, you are to

record the correct option on the OMR Answer Sheet by darkening the appropnate circle in the
corresponding row of the OMR Answer Sheet, by ball-point pen as mentioned in the guidelines given
on the first page of the OMR Answer Sheet.

9. For each question, darken only one circle on the OMR Answer Sheet. If you darken more than one
circle or darken a circle partially, the answer will be treated as incorrect.

10. Note that the answer once ftlled in ink cannot be changed. If you do not wish to attempt a question,
jeave all the circles in the corresponding row blank (such question will be awarded zero mark).

11. For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.

12. On completion of the Test, the Candidate must handover the OMR Answer Sheet to the Invigilator
in the examination room/hall. However, candidates are allowed to take away Text Booklet and copy
of OMR Answer Sheet with them.

13. Candidates are not permitted to leave the Examination Hall until the end of the Test.

14. Ifa candidate attempts to use any form of unfair means, he/she shall be liable to such punishment
as the University may determine and impose on him/her.

Trim v A afFm amawr-gs w A R
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No. of Questions /Iy i &aT : 170

Time [T0F ; 2 Hours/ﬂ“ﬁ' Full Markl/w : 450

This paper consists of Objective Type Questions and is divided into
TWO Sections (I and II) as under :

T2 Y-T3 Sgfadedid S W IaiE R qr @ @vel (1 @ 1) # fave
2, st & fra aftfa 2
(a) Section—I consists of 130 Objective Type Questions on General

Awareness, Current Affairs, Common Legal Knowledge, Aptitude
and Mental Ability.

(%) @us—1 ¥ 130 FEAFdE A W= JH, FWEE fawl, sme
fafee sHerl, AR @ aafas Jga @ smnfE € )

(b) Section—II consists of 20 Objective Type Questions each on
(i) English Language and (ii) Hind1 Language.

(@) @us—II (i) st W R (i) &} 9w F g9 w smufm
YIF AW ¥ 20 FEfaHdd TH R

A candidate is required to attempt as many questions as he/she can in
Section—I, and questions of ANY ONE of the TWO Language papers
(i) English or (ii) Hindi in Section—II.
swpeff @ anifad 2 % @us—I o @Wus—II & (i) FUsh @ (i) &
AT FH % ST S R OFA R

Note/1Z : (1) Each question is followed by Four alternative answers (1), (2), (3) and
(4). Only one of these answers is correct. Select the correct answer and
record it against the relevant question by darkening the circle with Ball
Point Pen in the Answer Sheet, as per the guidelines.

YeIF TH F OR dHeF I g U E R (1), (2), (3) 4 (4) Fhl
§oayfar T R TH A ¥ W @ IW AA R WA IW w w HRC
qU7 ITF HHE F IN-uF A gl wH & wve fdwgan 3fEE ge
(MeTE) F ATer i3 U R Fen F 3150 |

94 1 (P.T.O.)
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1'

(94)

(2)

(3)

If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

afe uEfus defous Iat 98 I F (e T @, @ Fweam g 3
3l |
Each question carries 3 marks. One mark will be deducted for caci.

incorrect answer. No mark will be awarded for the unattempic::
questions.

TAF W9 3 IF K B Y% Tedd IW & U wR IF I ow
A g W oo A fed s

Section—I

Qus—I

Which part of the Indian Constitution has been described by Nani Palkhivala as
an ‘Identity Card of the Constitution’?

{1) Fundamental Rights
(2) Directive Principles of State Policy

(3) Federal Structure

(4) Preamble

WG % Hfaum & fEw 9w & TR wesdaen g0 wfEum @ ovgmm v ¥ o=q @
afra T 27

(1) qet sifern (2) T % fify fdvs fazm

(3) QIEHF Tl (4) FETEA

gcollegeduniaa
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In which part of the Constitution of India, a provision for promotion of
International Peace and Security has been made?

(1) Fundamental Duties
(2) Fundamental Rights
(3) Directive Principles of State Policy

(4) Preamble
m%m_%mmﬁmm@w%m%mwﬁm

a1 27
(1) & Feied (2) q& AU+
(3] T F Ay v g (4) T

Which of the following Commission was appointed for creation of new States on
the basis of language?

(1) Fazl Ali Commission (2) Sarkaria Commission

(3) Nanavati Commission (4) Liberhan Commission

Wl % AR W A TS F T & g Frafafae 4 @ fem osmim 1 e fem

™1 917
(1) e et M (2) TR 3R
(3) AETEAT ST (4) foreEm smam

In India the concept of the ‘Person of Indian Origin’ (PIO) was introduced in
vear :
(1) 2010 (2) 2002 (3) 2006 (4) 2016

3 (P.T.O.)
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ad # ‘st qe w AfE (Pio)%wﬁmﬁm%mwaﬁ;

(1) 2015 # (2) 2002 H (3) 2006 # (4) 2016 H

5. Fundamental Duties were incorporated in the Constitution of India on
recommendation of :

(1) Motilal Nehru Committee (2) Swaran Singh Committee
(3) Arun Jaitly Committee (4) Malimath Committee
W@ & dfau[ ¥ gd e gHEhE R wn o

(1) Hrdfara 4g% =i (2) =i fag =iufa

(3) aur et |ffa (4) wfemy |fufa

#i wegfoat W

6. The Chairman of the First Official Language Commission was :
(1) B. G. Kher
(2) Balwant Rai Mehta
(3) Govind Ballabh Pant

(4) Choudhary Charan Singh
TN SIS AT $ ey 9
(1) fto sfto @ (2) TG T Tl
(3) M= wg vd (4) =gl T fir

(94) 4
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7. Which of the fglluwing Schedule relating to Urban Local Bodies was introduced
by 73rd Constitution Amendment Act, 1992 ?

yell g Fem |4 gwfud e omge =i dfeum d@uites sfufem, 1992 % =
wffea e

(1} 1X (2) X (3) XI (4) XII

8. Schedule III of the Constitution of India is related to

(1) Salary of President and the Governors of States
(2) Oath/Affirmation by Ministers

(3) Legislative Powers of Parliament and State

(4) Official Language

wrd % afaem it dmd g g R

(1) Teufa a9 T & U9 & dad 8

(2) ufaat & vy vfege 2

(3) H92 td Toa faufre & faurh wfwai @

(4) TvTET

9. To resolve the disputes relating to waters of inter-State rivers, the Constitution
of India has made provision in Article :

(1) 262 (2) 263 (3) 260 (4) 258-A
sraTfarE At ¥ 9a gt fEe w1 e +6 % ol afaum § gEum
TR
(1) =8 262 H (2) ¥=d% 263 H
(3) *=dE 260 H (4) =BT 258-A H

194 5 (P.T.O.)
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10. The Union Public Service Commission shall

11.

12.

(94)

submit its Annual Report to the :

(1) President
(2) Speaker
(3) Prime Minister

(4) Ministry of Personnel, Public Grievances & Pensions

aY orE da1 e aftw gidded &m
(1) Tgafa =i

(2) A" Fl
(3) TuFEAR
(4) FffF, & fiemEa @ GvE A #)

International Criminal Court (ICC) is located at :

(1) Switzerland (2) Hague (3) London (4) Geneva
Figig amyufvs ey sEfed ?
(1) fageeie 8 (2) =7 H (3) A # (4) 3 A

Who among the following has been elected twice as the Judge of International
Court of Justice (ICJ) ?

(1) Justice R. S. Pathak (2) Justice Dalveer Bhandari

(3) Sir B. N. Rau (4) Justice P. N. Bhagwati

gcollegeduniaa
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ﬁmﬁdﬁaﬁﬁﬁaﬁww@umma’rwmﬁmaﬁﬁMW?
(1) =AY Ao THo e (2) =rTefter gt e
(3) @ do THo TH (4) =T dto THo wWiraHl

13. The National Biodiversity Authority is in :
(1} Mumbai (2) Bhopal (3) Chennai (4) Dehradun
mia Sg-fafduar w2 .
(1) g o (2) Wt § (3) == # (4) e d

14. The term doli incapax is meant for :
(1) child below 7 years
(2) child above 7 years but below 12 years
(3) child below 18 years
(4) child below 14 years
9z it T B
(1) 7 a8 & #n iy & fod
(2) 798 @ I fhg 12 98 @ ¥ g & ford

(3) 18 a¥ ¥ ¥ Y & ATH & o
(4) 14 a8 @ F9 JY F q@F F oA

(94| 7 (P.T.O.)
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15.

16.

iy 1

(94)

In which of the following States the provisions of anticipatory bail 15 10!

available?
(1) Andhra Pradesh (2) Maharashtra
(3) Uttar Pradesh (4) West Bengal

Frafofgs o & feg TS # oW SWHE ® WEYH 399 TR R7
(1) smywew & (2) Wewg H (3) IR RW d (4) ufTEw I |

Under Article 13 of the Constitution of India, which of the following 1s not
‘Law’?

(1) Circular (2) Personal Law
(3) Custom (4) Notification

VI ¥ BRUR ¥ o0 13 ¥ e fefafes 0w # Bl A 27
(1) g (2) = fafy (3) werr (%fe) (4) A

The Constitution of India came into force on :

(1) January 26 (2) August 15
(3) November 26 (4) April 14
wrd F1 FiEuR @r o

(1) a0 26 @ (2) & 158 (3) Tq= 26 ¥ (4) I 14 &

gcollegeduniaa
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19.

20.
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The Residuary Legislative Power under the Constitution of India lies with :
(1) Parliament

(2) State Legislature

(3) Parliament and State Legislature both

(4) President of India

oA % HfAE % o sEed fumA whe fife 2

(1) 552 # (2) T=a fouifrE |

(3) @9z an sy faurfrE 4 4 (4) wRd % ugafa &

The following age group of children are entitled to free and compulsory
education under RTE Act, 2009 :

(1} 5-12 years (2) 6-14 years (3) 8-16 years (4) 7-18 years

frqfafga § @ 69 39 @98 & @io® g @ Had e sfufem, 2009 %
AT ETPER B

(1) 5-12 @§ (2) 6-14 9 (3) 8-16 a4 (4) 7-18 =4

Which of the following reduces the offence of murder to culpable homicide?
(1) Unsoundness of mind (2) Intoxication

(3) Provocation (4) Accident

Sfafigd § @ #1F  F 390 H AHegy § fomfed oA 27
(1) fam faspfd (2) Al (3) THIGF (4) ZHEA

9 (P.T.0.)
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21.

22.

23.

(94)

UIDAI is responsible for implementing :
(1) MNREGA Scheme (2) Aadhaar Scheme
(3) Swachha Bharat Scheme (4) Digital India Scheme
Yo R oBNoTo Ao ToRavaad fot 2l R
(1) ®HOM AT (2) AME TS
(3) =3 WG TS (4) Tesfiea 3fean g
What is the term of non-permanent members of the Security Council of th
United Nations Organization?
(1) 6 years (2) S years (3) 2 years (4) 4 years
Hw TgEY g g IR ueel & FRiee e e 20
(1) 6 =4 (2) 5 (3) 2 & (4) 4 a4
Which of the following Judges of the ICJ delivered judgement in Kulbhushin
Jadhav Case?
(1) Willlam Webb (2) Rommy Abraham
(3) Pitt Cobbett (4) B. N. Cardozo
ﬁmﬁaﬁaa:amifﬁﬁﬁﬁfﬂﬁmotﬁuéoﬁwmm%ﬁmﬁﬁvhﬂm
qr?
(1) faform == (2) Tt 3mETRN
(3) foz ez (4) o o Frefe
10
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24. Who of the following administers Qath of Office to the President of India?

25.

26.

94

(1} Outgoing President (2) Vice-President
(3} Chief Justice of India (4) Prime Minister
frafafaa 4 & #9 wma & wgfa & 92 F ymy Fema 27
(1) Fadum agfa (2) Iwrgafa
3) WA # qEg IR (4) wur

The Parliamentary System of Administration is borrowed in India from which of
the following countries?

(1) USA (2) England (3) Canada (4) Australia
yyEe & gEe sgawen fefefaa e 4 @ few dw @ oft it 27
(1) FoUHoTo (2) §AU3 (3) TS (4) Hiegfora

Who of the following coined the term ‘Harijan™

(1) M. M. Malviya (2) Vinoba Bhave
(3) M. K. Gandhi (4) Aurobindo
fraferfaa & & fFeq ‘efea wisg &1 goi o an?
(1) THo THo HIETHIY (2) faatan W
(3) THo Fo T | (4) 3l
11 (P.T.0.)

gcollegeduniaa

el



18U/103/27 Set No. 1

27.

28.

29.

(94)

«The State shall ensure that the cconomic system does not promoic
concentration of wealth and means of production.” Where this provision s

provided?

(1) Article 14 (2) Article 39 (3) Article 41 (4) Article 31-A
“req % gifraa won f onfdw oISl @ WE W@ IR F oW ¥ FSE
1 "gEn & fem” 3 wei ved R

(1) 3997 14 (2) I3 39 (3) W 41  (4) T 31-A

Which of the following subjects was the domain of Malimath Committec?
(1) Constitutional Reform

(2) Criminal Justice and Administration Reform

(3) Stock Market Reform

(4) Personal Law Reform

iy afife F Sanfyer § Fefafaa & @ # fawm ar?
(1) EuriF gaw (2) IR S TS TE GHR
(3) TfF THe 49X (4) agfes fafs qgum

Who of the following has not been accused in the Babri Masjid Demolitio:
Case?

(1) L. K. Advani (2) M. M. Joshi

(3) A. B. Bajpai (4) Kalyan Singh

12
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At Ao favm wwd # Rrefafaa § @ B s T8 s w2
(1) Ueto o 3TeaH (2) THo Wo St
(3) To #fto arerd (4) Feamn &
30. Untouchability is abolished and its practice is punishable according to

(1) Article 15 (2) Article 16 (3) Article 17 (4) Article 15 (4)
ZEgvaa GO @ TS R N sHE wo e awar % dwd el 27

(1) o9=82 15 (2) 302 16 (3) 32 17 (4) 37 15 (4)
31. The quorum requirement in Rajya Sabha is :

meaay § ogfd & T2 fRes ween At smawmear 27

(1) 25 (2) 100 (3) S0 (4) 126
32. Article 227 of the Indian Constitution deals with :

(1) the High Court’s power of Superintendence of Courts

(2) Judicial Review
(3) the power of the Speaker

(4) the election of Vice-President
Fywse 227 fFed wafa 27
(1) AReEl &1 3= el S g ol

(2) =i qAfders
(3) =ffE fit wfwat

(4) 3IPTEAfd & I

94| 13 (P.T.O.)
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33.

34.

35.

(94)

The headquarters of ILO is located at :

(1) Geneva (2) The Hague (3) New York
Ao 0 FI YA FATaE fEud 2
(1) S (2) & (3) =T

The Members of the Rajya Sabha are elected by :
(1) the People |

(2) Lok Sabha

(3) elected Members of the Legislative Assembly

(4) elected Members of the Legislative Council

T % H9e9 g 9 2

(1) ST g/

(2) SrFET ZT

(3) =gt # faurmwiat & fatfea 9e=i g
(4) Tsat it faum oftwet & FRatfea gewt gm

What is the minimum permissible age for cmployment in anv factory or r

(1) 12 years (2) 14 years (3) 16 years

(4) Rome

(4) 1"

(4) 18 years

fredt oft S srar @w # Tgfe A P sgaa smg o 2o

(1) 12 =d (2) 14 79 (3) 16 a4

14

(4) 18 =4

gcollegeduniaa
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37.

38.

39.

94)
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F)F]dﬂr which Articles of the Constitution are the Cultural and Educational
Rights granted?

(1) Articles 29 and 31 (2) Articles 29 and 32

(3) Articles 29 and 30 (4) Articles 30 and 31
qrfE AfEuE F 6 wTeaE d wepla v Mae AR vew o 2o
(1) =3 29 AR 31 (2) =T 29 3 32

(3) H]=3g 29 I 30 (4) 3= 30 3R 31

The President may appoint all the following, except :

(1) Prime Minister (2) Governor

(3} thgh Court Judges (4) Rajya Sabha Chairman
myufa frm @ TR Siew it i fafs = wwa 27

(1) gerh (2) T=IUTA

(3) 34 AT % A (4) TR % AN

How many members of the Rajya Sabha are nominated by the President of
India?

TeaE # Tpgfd g fead el it Mifda feman S @7
(1) 10 (2) 11 (3) 12 (4) 13

Nuisance can be :
(1) public (2) private
(3) both public and private (4) either private or public
15 (P.T.O.)
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YA & TRl B
(1) & (2) st
(3) oi® @ fsft g @) o @ &t @ a@

40. The Ninth Schedule of the Constitution of India was added by :

(1) First Amendment (2) 24th Amendment
(3) 42nd Amendment (4) 93rd Amendment
W % HiauH o 1G]] Hﬂ'&?ﬂ g T

(1) Yo Feed g (2) 24a TWEA gAT
(3) 4291 FIMEH g (4) 93a HIMUR Zm

41. Under Hindu Marriage Act, Hindu includes :

(1) Buddhist (2) Sikh (3) Jain (4) All of the above
feg foame arfufam 4 wyw fog & wifier @
(1) stg (2) Fo=a (3) 4 (4) ITE T

42. Remedy of Restitution of Conjugal Rights 1s available to ;
(1) wife (2) husband

(3) wife and husband both (4) husband’s father

(94) 16
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TR F YR F I Iy
(1) T=ft (2) ufd
(3) ufd 3t ueft g1 (4) ofd & foen =
43. An agreement enforceable by law is a :
(1) enforceable acceptance (2) accepted offer
(3] approved promise (4) contract
fafa gm vadam = 2
(1) yadda sk (2) Er fF ™ gEE
(3) AT g (4) @fae

Directions (Question No. 44 to 50) : In the questions given below are two statements
abeled as Assertion (A) and Reason (R). In the context of the two statements, select the
orrect answer by using the codes given below the statement.

a9 (994 5l 44 4 50) : B 5= 4 3 Fud & e (A) 31 g0 O (R) B R =
sl & w H 3 A9 3 T 2 F wm g A I F 99 i

44. Assertion (A} : The Contingency Fund of India is placed at the disposal of the
President.

Reason (R) : The President is the executive head of the State.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4] iA) 1s falsc, (R) 1s true.

94 17 (P.T.O.)
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45.

(94

TEHE (A) ard &1 A ffa agefa F fola wowd W R
F (R) : apafs 3w A FEOiEE FogRE 2

FC !

(1) (A) 3R (R) 3t @ & a1 (A) F T AEA (R), B

(2) (A) 3N (R) 3 5w § wg (A) B T =S (R), T 2
(3) (A) FF B, (R) Te@ 2

(4) (A) To@ 2, (R) ¥ I

Assertion (A) : In India, the Judiciary is independent of the Executive.

Reason (R) : Judiciary favours the Government and helps in the
implementation of its plans.

Codes :

(1) Both (A} and (R) are true and (R} is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true, (R) is false.

(4) (A) is false, (R) 1s truc.

TG (A) : WA AU e § @ad 2

FAO (R) :  ARAITAE] FEHER 1 94 oidt 2 AR ITH A A = § "er 5
2l

F< :

(1) (A) 31T (R) 3t @ § Fa1 (A) F F& == (R), B

(2) (A) 3 (R) g1 74 & WY (A) A FE e (R), T2

(3) (A) ¥ R, (R) Tod 2|

(4) (A) T R, (R) ¥4 2

18
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Assertion (A) :  The Council of Ministers is collectively responsible to the Lower
House.

Reason (R) : Most of the Ministers are from Lower House.

Codes :

(1} Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) 1s false, (R) is true.

TEAE (A) : AEUESH Arffed ¥ # fod 9 ¥ R samRe g
FAU (R) : SRR & =t 729 9 23 #)

7 -
(1) (A) 3 (R) a1 |57 2 a1 (A) it o =@ (R), R

(2) (A) ¥ (R) g g & W (A) A 7 =W (R), TE B
(3) (A) 89 2, (R) "I g

(4) (A) Ted 2, (R) ¥ 2|

Assertion (A) : The Indian Constitution provides for single citizenship.

Reason (R) : The Indian Constitution is unitary in nature.

Codes :

(1} Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R} are true but (R) i1s not the correct explanation of (A).
(3} (A) i1s true, (R) is false.

(4] (A) 1s false, (R) is true.

19 (P.T.O.)

gcollegeduniaa

el



18U /103/27 Set No. 1

48.

(94)

YR (A) w1 HEME U A @ YEE w2 g
O (R . WA F afagm g w6 2

C A

(1) (A) 3 (R) 31w & ad1 (A) i Fel e (R), 21

(2) [A)aﬂI(R)a’!ﬁm%m(mﬁﬂﬁm{R),qﬁ%l
(3) (A) ¥ 2, (R) T 2

(4) (A) TE@ B, (R) Fd 2

Assertion (A) : An accused person cannot be compelled to give his thum!
impression.

Reason (R) : An accused person cannot be compelled to be a witnes:
agamnst himsell.

Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A} and (R) are true but (R} is not the correct explanation of (A).
(3) (A) is true, (R) is false.
(4) (A) is false, (R) 1s truec.
g (A) : UF e oA & favg o8 F 9 A # fom sma 9 s
LEGIE
FO (R) - UH s e @ fwg mea 37 F R A =@ fEa s =
T
(1) (A) & (R) 3Hl & § a1 (A) it a9 =4 (R), R
(2) (A) 3R (R) 2l §F & T (A) H FA FAA (R), T 2
(3) (A) ¥ 2, (R) 7o 2
(4) (A) TEE R, (R) FF 2
20
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49. Assertion (A) : Crime is punishable because it is prohibited by the Law.

50.

94

Reason (R) : Crime is revolting to the moral sense of society.
Codes :

(1) Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(3) (A} is true, (R) is false.

(4) (A) is false, (R} is true.

T (A) : S90Y fosd @ wife ven fafy & wmwm e omn 2
FO (R) : Ay Afqwa F di W wuw & favg fagw R

E A

(1) (A) 3 (R) 21 & & a1 (A) A #& =@ (R), B

(2) (A) 3T (R) aF1 &9 & 9 (A) i W =A@ (R), T 2

(3) (A) ¥ 2, (R) 7o R

4) (A) Ted 2, (R) 4 R

Assertion (A) : Custom to have the force of law must be immemorial.

Reason (R) : Custom represents common consciousness of the people.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both {A) and (R} are true but (R) is not the correct explanation of (A).
(3) (A) is true, (R) is false.

(4) (A) 1s false, (R) i1s true.

21 (P.T.O.)
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S1.

52.

(94)

YER (A) : e & fafus wE B % TR e e @ e 2
FNO (R) : sz @il & g R # AiafTE w2

Qc

(1) (A) 3 (R) 3l @ & aun (A) F & A (R), 2

(2) (A) 3 (R) 2t g & wg (A) A FA A (R), T 2
(3) (A) 99 B, (R) @ Rl

(4) (A) Te@ R, (R) §A 2l

‘Duncan Pass’ lies in between

(1) Andaman and Nicobar (2) North and Middle Andaman
(3) North and East Andaman (4) North and Southcrn Andaman
‘¥ tm e ?:

(1) 3reum au fraEm & &= (2) I qAT U IEHE F o9

(3) I qUT g WA F 4 (4) I A =0T IrEER F e

Mahatma Gandhi was referred to as ‘The Father of Nation’ first by :

(1) Jawaharlal Nehru (2) Vallabh Bhai Patel
(3) Raja Gopalachari (4) Subhash Chandra Bose
wErenr W o wdwyw upfea #i oG g me oot
(1) SETETens AE& g (2) 9g9 W T g
(3) T AT gR (4) G Wz S g
22
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53. Which one of the following countries gives the ‘Magsaysay Award’?

o4,

55.

56.

194!

(1) Japan (2) Indonesia (3) USA (4) Philippines
ffoifad 4 & #l-a1 Q0 PEE g’ em w27
(1) ST (2) e (3) JeTHoTo (4) Torehft=g

The science of tune-mecasurcment is termed as

(1} Horology (2) Cosmology (3) Tomology (4) Hydrology
HHG-H99 % fa¥E B FE S R
(1) Errersi (2) HrHTEATH (3) raras (4) TTEgIATSH

In computing, 1 nibble = ?

(1) 4 Bits (2) 4 Bytes (3) 8 Bytes (4) 8 Kilobytes
At (Fwgfer) 3 1 fee = 2
(1) 4 fozm (2) 4 aT5TH (3) 8 =TEZH (4) 8 Treirarees

Who among the following are the founders of Social Networking Site : ‘ Twitter?
(1) Chris Hughes, Dustin Moskovitz, Eduardo Saverin, Mark Zuckerberg
(2) Larry Page, Sergey Brin

(3) Biz Stone, Evan Williams, Noah Glass, Jack Dorsey

(4) Jawed Karim, Chad Hurley, Steve Chen

23 (P.T.0.)
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57.

58.

(94)

dtor Jeafdn we ER (Twitter) & deyma fim d F 27
(1) fm e, SR A, egendl datd, W S
(2) & m, wsft fom

3) fow =, Tam fafem, Men wE, A% S

(4) Sz Hw, s 7, € 9

Which of the following is not a ‘grecnhouse gas™

(1) Carbon dioxide (2) Methane
(3) Ozone (4) Oxygen
fm 4 3 #5 w eee e ol 27

(1) FIE4 SEATFATEE (2) =g

(3) I (4) AT

The Chauri-Chaura incident resulted in the abrupt end of which of 1

following?
(1) Civil Disobedience Movement (2) Wahabi Movement
(3) Non-Cooperation Movement (4) Home Rule Movement

aﬁ—mﬁmﬁmmﬁﬁmmﬁm%mﬁﬁ?

(1) fafas sm@am sm=rem (2) T H=EE
(3) =AM FRIeH (4) B ®4 =reH

24
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59. Which of the following is the correct date on which the International Court of
Justice was set up?

(1) January 31, 1946 (2) March 31, 1946

(3) April 18, 1946 (4) April 28, 1946

Safafas § @ F4 ad% [ 2 e G # vy A f o o
off #

1) g 31, 1946 (2) 51 31, 1946

(3) = 18, 1946 (4) 3dd 28, 1946

60. Which of the following term is used for rocks formed deep inside the Earth as a
result of solidification of lava?

(1) Volcanic rocks (2) Metamorphic rocks

(31 Plutonic rocks (4) Sedimentary rocks

Fraferfg § @ F9 7 WE fRn S @ 1 wEEl F R Stoqf § waie et 8
Affa 73 2 @Er ® oA g4 % herasy !

(1) vETATEE g (2) F=fa T
(3) faaeim =zH (4) derBd TEH
61. To which of the following, Fiscal Policy is related?
(1) Population control (2) Public revenue and expenditure
(3) Issue of currency (4) Export and import
ffss Hfify Frafafaa & 4 el gmEg R7
(1) sAEEn e (2) & T9E @ s
3) A F I T S (4) frafa wa smam
24 25 (P.T.O.)

gcollegeduniaa

—



18U/103/27 Set No. 1

62.

63.

64.

65.

(94)

Which of the following term is used to refer to plants that grow in saline water>
(1) Mesophytes (2) Halophytes (3) Hydrophytes (4 Thallophytes

Frfofgs 4 @ fm w=iss & @A 9@ R 3 Al wofm e 3 R
@r gt 7 I g7

(1) ETeTEE (2) TEHELH (3) BEGIHIZE (4) dererEem

Who of the following presides over the joint sitting of the two Houses
Parliament?

(1) President (2) Prime Minister

(3) Speaker of Lok Sabha (4) Chairman of Rajya Sabha
Frafafaa & & #7992 & 361 95 6 97 d35 F s wr 27
(1) Tgufd (2) et

(3) STHAYT FT HEAY (1) T=EDT FT1 %7

Which of the following is obtained on a commercial scale from seawater beside
sodium chloride?

(1) Radium (2) lodine (3) Thortum (4) Manganesc

ﬁﬁmm%uﬁrﬁﬁﬁwﬁiﬁaﬂﬁﬁmm%mﬁﬁnﬁfﬁmmm
o smar 27

(1) ifsam (2) A (3) wifam (4) Hrfrsr

Which of the following is an igneous rock?

(1) Shale (2) Granite (3) Marble (4) Quartzite
26
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fraffigs § @ F19 3 3@ 27
(1) 9@ (2) #arE2 (3) AT (4) FSER

66. In which of the following, the term ‘Cue’ is used?

(1) Chess (2) Billiards (3) Bridge (4) Squash
frafafas § & e o3 ‘| = Wi @ar 27
(1) = (2) fafeada (3) forst (4) TN
67. Who of the following happened to be the first woman Prime Minister in the
World?
(1} Margaret Thatcher (2) Sirimavo Bandarnaike
(3) Indira Gandhi (4) Golda Mayer
frafafga d @ =7 fovg o yom ofeen gumeh s« ?
(1) "iftz &em (2) fafomat e
3) 3t s (4) TMeST HR

68. Who of the following was elected President of France recently?
(1) F. Holland (2) Emmanuel Macron

(3) Angela Morkel (4) Theresa May
frefefiga # & %4 @ & § s #1 ugefa Paffea gan 27
(1) The BAVS  (2) FAJCA AHM  (3) Uslell Wb (4) W@ #A

94, 27 (P.T.O.)
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69.

70.

71.

72.

(94)

The symbol of the Summer Olympic Games 1s :

(1) five rings of the same colour (2) five rings of different colonrs

(3) four blue rings (4) four rings of different colours
fieqerrelia el @ #1 W 2

(1) T & 1 i 9= (2) I M T f uim fio

(3) 5m Href o (4) 3™ 3m T Fi 9w i

‘India for the Indians’ was the political message of :

(1) Dayananda Saraswati (2) Swami Vivekananda
(3) A. O. Hume (4) D. Wacha

‘qra Wit & ford’ @ TefeE wAw R

(1) ZAH= ATl (2) @ faFsE 5

(3) Wo 3fto BH H (4) Eo aT=m HI

What is the approximate length of the Great Wall of China?

o1 1 fan H T FwErd e 27
(1) 2000 m (2) 2500 m (3) 3000 m (4) 3460 m

Which one of the following is not a Fundamental Right?

(1} Right to Property (2) Right to Assemble Peacefully

(3) Right to Religion (4) Right to Constitutional Remedies

28
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FE 0 8 #H-81 o s T8 27
1| T & SR (2) fgd® g & R
(3) wd A wEEAa F AUFER (4) Gy ITER F IFUFR

Fundamental Duties were inserted in the Constitution by

(1} 42nd Amendment (2) 44th Amendment
(3) 47th Amendment (4) 49th Amendment
qa = # fuE & s e

(1) 4231 "9eA g (2) 4491 FIMEF ZAT
(3) 4791 HENYA FA (4) 4991 FER gl

Right 1o Education” was inserted in the Part III of the Constitution by :

(1) 82nd Amendment Act (2) 85th Amendment Act
(3) 86th Amendment Act (4) 89th Amendment Act
afagm % dat am & Cfren w1 afuer e fe omn

(1) 82a1 wuieA sfufEd gm (2) 85a1 wve AtufFm g
(3) 86a1 FvuA fufEE g (4) 89a1 WY HiufaH g

What is the meaning of lex loct ?

(1} Law of land

(2) Sovereignty is essential for enacting laws
(3) Law of land is supreme

(4) Crown has supreme authority

29 (P.1.C.}
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e gt w1 e 7 27

(1) Tg 1 H{d

(2) fafa fofo & fod gongan smavas 2
(3) 29 F FHA TN

(4) T Haraft st 2

76. In which part of the Constitution, the concept of Welfare State nnc

elaboration?

(1) Preamble (2) Fundamental Rights

(3) Fundamental Duties (4) Directive Principles

afau % fFm wm d FoavE os9 A sEgrn et 27

(1) sreTeT (2 7@ R (3) T FWA  (4) A P A

77. Who summons the meetings of the Parliament?
(1} Minister of Parliamentary Affairs
(2) Prime Minister
(3) President

(4) Speaker and Vice-President

9E 1 AMGIN A g 27
(1) 99 & w3h (2) gHTETE
(3) wgufd (4) wfigt 3t ImTEOfy

(94) 30
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Which High Court in India had the first woman Chief Justice?

(1) Madras (2) Allahabad

(3) Punjab and Haryana (4) Himachal Pradesh

ud % e 3= =rrem 4 ueelt ofeen qeg mmfe o+t

(1) "™ (2) FATRMER

(3) g T eferom (4) femr=ret waw

A Legislation enacted by a State Legislature falls in the category of :

(1) subordinate (2) supreme (3) autonomous (4) delegated
7+ faufem gro ffifa fafy e ooft & ammen 27

(1) orefed (2) wat= (3) T (4) vearitfa

The Battlefield of Plassey is situated in :

(1) Bihar (2) Andhra Pradesh

(3) Odisha (4) West Bengal

A F qg F wa fRE R

(1) foem & (2) sywew # (3) Aifewm (4) ufem sme
If the arithmetic mean of 6 numbers is 45, what is the total sum of these
numbers?

(1) 27 (2) 45 (3) 65 (4) None of these
e 6 GG | AR A 45 R, T HGS F; F A A 27

(1) 27 (2) 45 (3) 65 (4) ¥ 3 I3 T

31 (P.T.O.)
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82.

83.

84.

85.

(94)

: : s 3 ‘ ¢ ' s 10 Dass.
In an examination, it is required to get 36% of maximum marks 1o p

student got 113 marks and was declared failed by 85 marks. The miaximin
marks are :

vx qhen 3 I A9 & fu sfumdn 36% WIHTE I SETIEA 2| UH AE A F
113 3% SR fUu au1 I8 85 e H gl wifyq # feun wEn s e Fe

(1) S00 (2) 550 (3] 640 (4) 1008

A man’s wages werc decreased by 50%. Again the reduced wages were increasc
by 50%. He has a loss of :

ot =afts & @ & 50% it FH o A W [ W R BT a9 9 o, 4
i # & M| | fFd F A g7

(1) 0% (2) 0:25% (3) 2:5% (4) 25%

The boys and girls in a college are in the ratio 3: 2. If 20% of the boys and 25
of the girls are adults, the percentage of the students who are minor, is

et merfaerer § wige a9 wefEal 3:2 F oFTM H 2 uE TH F Q0% med
AA 25% TASfFAl IT=F &, dl fFad Ulav 3@ € T EEeE 80

0/
F4

eI

(1) S58% (2) 67-5% (3) 78% (@) {2

A fan is listed at Rs 1,500 and a discount of 20% 1s offered on the lisi pric
What additional discount must be offered to the customer to bring the net Pric
to Rs 1,104 ?

UF U@ F FAEE 1,500 To B AW AN T 20% A7 frm wen 2 nwew ow
fopem wfawa 3f @ fon s fo 3@ 9@ % 0 g FmA 1,104 5o =3 uzo

(1) 8% (2) 10% (3) 12% (4) 15%

32
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86. By selling a table for Rs 350 instcad of Rs 400, loss percent increases by 5%.

87.

88.

89.

94!

The cost price of the table is

(1] Rs 435 (2) Rs 41750  (3) Rs 1,000 (4) Rs 1,050

PRt 79 F 400 %o FHl W 350 ¥o # fagpm wH W vl = wfwvm 5% 37 @
2 99 F FAA 2

(1) 430 To (2) 417-50 %o (3) 1,000 ®e (4) 1,050 %o

ii 3 persons weave 336 shawls in 14 days, how many shawls will 8 persons
weave 1n S5 davs?

qfz 5 6 336 Wid 14 it 5 g9 €, 8 =fF 5 B # e e 97

(1) 180 (2) 210 (3) 252 (4) 320

[f 18 ninders bind 9000 books in 10 days, how many binders will be required to
pina 6600 books in 12 days?

gz 18 foegm= 10 & & 9000 y=% # foeg &ma &1 6600 Yeawi # 12 f&i
§ fier i # fou fFaa fegern $ snawgswar goft?

(1) 55 (2) 14 (3) 13 (4) 11

The speed of a train 150 m long is 50 kmph. How much time will it take to pass
a platform 600 m long?

(1) 50 sec (2) 54 sec (3) 60 sec (4) 64 sec

150 Hier ot IemE ) 9 50 fRorte ufd W@ R 600 Hiew W wiewd #OUR
F4 ° 2@ foaar gug &mm e

(1} 50 B8 (2) 54 TFHUZ (3) 60 HFVE (4) 64 TFE

33 (P.T.O.}
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90.

91.

92.

93.

94.

(94)

The size of a wooden block is (15 cm x 12 ¢m x 20 cm). How many such blocks
will be required to construct a solid wooden cube of minimum size?

frft Tt & Fe F FAWHR (15 "ol x 12 Hofo x 20 Hemflo) 2| ~Jddn
AR F AFE F 3 W F i w F fow @R R g fi smavgwa wf

(1) 45 (2) 48 (3) 60 (4) 75

The HCF of 42, 63, 140 is
42, 63, 140 T HgdH FHIYGOS o

(1) 14 (2) 9 (3) 21 (1) 7

The sum of two numbers is 36. Its HCF is 3 and LCM is 105. What is the sum o
the reciprocal of the numbers?

3 wemsdl AT 36 ¢ FH e WHEE 3 AU AN wmmEdwm 10s
e F FEA F AT T M

2 3 4 p,
g —ia =
(1) 35 (2) 75 (3) 35 (4) 25

The largest number that divides 210, 315, 147 and 168 exactly, is
210, 315, 147 q41 168 *I Yofeen fenniford It el 98 d@wp 2

(1) 3 (2) 7 (3) 21 (4) 35

What is the greatest number of 3 digits which when divided by 6, 9 and 12
leaves a remainder 3 in each case? ' '

a3 At T A T FEm WA= 2, BR 6, 9 awr 12 | Ffe w0 w v
M H 3 WY o=9dr 87

(1) 903 (2) 939 (3) 975 (4) 996
34
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W hat i1s the least number which when divided by 5, 6, 7 and 8 gives remainder 3
i cach case and is completely divisible by 9 ?

a6 TN WA gen w4-d 2, ° 5, 6, 7 9w 8 # fAwfm % w g o §
1 99 @A & AaT O B gofem fawes w7

(1) 1677 (2) 1683 (3) 2523 (4) 3363

A maximum of how many picces of 12'6 cm can be cut from a 857 c¢m long rod?

857 HoMlo &l BT I 12-6%%%31&131@1%@3@3@&1@%%?
(1) S8 (2) 62 (3) 64 (4) 68

What decimal fraction is 40 ml of a litre?

10 faocfto, 1 #fizr 1 e Zymera fim 27

(1} -4 (2) 04 (3) ‘05 (4) -08

The average of all odd numbers up to 100 is :

100 7% &t ooft faug demst w1 aftma 2

(1) 51 (2) 50 (3) 495 (4) 49

The average age of 3 friends is 23. Even if the age of the 4th friend is added, the
average remains 23. What is the age of the 4th friend?

(1} 21 years (2) 23 years (3) 32 years (4) 43 years

4 filt Y oftma a1y 23 ? T aw fF =Y fm ft oy # Sie wooft st 23
& mar 21 99 fim f amy w2

(1) 21 39 (2) 23 ¢ (3) 32 a9 (4) 43 ad

35 (P.T.O.)
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100. A man covers half of his journey at 6 km/hr and the remaining half at 3 km/hr.
His average speed is :

(1) 9 km/hr (2) 45 km/hr  (3) 4 km/hr (4) 3 km/hr

UF G AR AW H Il 6 fHorfio/Ho il AW H TUI WY I 3 fehodlo/He
N 99 F @ Fa 2| I5H a9 R

(1) 9 fhoHio /Ho (2) 45 fHotlta /5a

(3) 4 Forfto/mo (4) 3 fpotfto /Fo
101. The place value of 7 in the numeral 634721 18

e 634721 H 7 @ WHE "A ®

(1) 7 (2) 721 (3) 714 (4) 700

102. Find out the value at the place shown by ? :
> % TH W AW el g@l 2
0548 + 7314 =8362 + ?
1) 8230 (2) 8410 (3) 8500 (4) 8600
103. The value at the place of ? will be :

? % ®F H UF B

087x999 = ?
(1) 586413 (2) 587523 (3) 614823 (4) 615173
104. Find out the value at place.

— % WMF % WA F «d150)
888888 + 888 - . G}

(1) 88889 (2) 29 (3) 44449 (4) 11
(94) 36
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A B, C, D are four consecutive odd integers and their average is 42. What is the
product of B and D ?

4 B, C, D 9N HATE fawm wead § aq I MEA 42 ) B U1 D FOPHEA
E2 L

(1) 1860 (2) 1890 (3) 1845 (4) 1677

Kindle is related to Burn in the same way as Angry is related to
Kindle # ¥4 Burn & 3! a® 2, 9¥ Angry # &Y —— H|

(1) Annoyed (2) Determined (3) Resentful (4) Furious

Boat is related to Sails in the same way as Balloon is related to

£ YFH Boat F1 =Y Sails ¥ 2, 31 YFR Balloon F &Y — — H|

(!)] Hot air (2) Rope (3) Nylon (4) Rubber

Water is to Oxygen as Table Salt is to

3 Water 1 g@ Oxygen ¥ 2, 38 Table Salt F gam |

(1) Iron (2) Sodium (3) Calcium (4) Proteins

Sweet is to Chocolate as Book is to
3 Sweet #F qe Chocolate ¥ &, 38 Book # gEN —— H|
(1) Dictionary (2) Library

(3] Encyclopaedia (4) Atlas

37 (P.T.O.)
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110.

111.

112.

113.

114.

94)

There are alike in some manner and the fourth one is different. Choose out the
odd one :

T AaER | 4 UF a9 @ ad1 St I g B Q) 3 B # gAE AI
(1) Wages ' (2) Honorarium

(3) Pocket money (4) Salary

Choose that set of numbers from the four alternative sets that is similar to the
given set (6,13, 22) :

wéﬁmaﬁﬁﬁﬁmaﬁ%wwwwﬁﬁq.ﬁm@mm
(6,13,22) % FHE & :

(1) (6,13, 27) (2) (10,16, 28) (3) (11,18,27) (4) (13.19.32)

Select the pair in which the numbers are similarly related as in given pair
(5:39):

0 gm % 9w Fifwe, fEd e B onw g (5:35) F wE FEE o
(1) 7:77 (2) 9:45 (3) 11:55 (4) 3:24

‘Which of the following is the wvalue of 2:-57x2:5742.57x7-43x2

+'7-43%7-437
frafafga § @ 2.57x2.57+2-57x7-43x2+7-43x7-43 1 99 7

(1) 1 (2) 10 (3) 100 (4) 200:59

Which of the following is the highest common factor of 42, 70, 98 and 126 2
frfafigs & | 9 42, 70, 98 991 126 F1 I=GH THYIAF 27

(1] =& (2) 14 (3) 6 (4) 7

38
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Which of the following would be the number if the difference between three
tmes and seven times of the number comes to 36 ?

Frafifas 4 % #1798 wen ah R M @ 9@ T F o oW s 36
Zim 7

(1) 6 (2) 9 (3) 12 (4) 18

Mohan sold his watch for Rs 144. If the percentage of his profit was equal to the
cost price, what would have been the cost of the watch?

1) Rs 75 (2) Rs 80 (3) Rs 85 (4) Rs 90

AEE A A TS 144 Te H A AR swh @ & yfave 99 F 5wy ¥ svew g,
g1 wEl F ged F41 @1 B

(1) 75 %o (2) 80 %o (3) 85 %o (4) 90 %o

Which of the following fractions is the biggest in value?

earad Ml ° " fRgs oe @e v 27

351 29 49 9
(1) T 2) %5 ) <2 4 5

Which of the following is equivalent of 40 °C temperature in Fahrenheit Scale?
frferfiga # @ #1940 °C TIHE F FRAR H HEGed w?

(1) 75° (2) 80° (3) 104° (4) 112°

What percent of 70 is 461 ?

70 #1 461 fran wiowm &m?

(1) 63 (2) 66 (3) 68 (4) 70

39 (P.T.O.)
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120.

121.

122,

123.

124,

(94)

If 12 men can do a piece of work in 24 days, then in how many days 18 mui cil
do the same work?

I 12 T68 UF F@ H 24 fF A woER R, 18 Y&y 3 HE ol (B I
F HHT 7

(1) 12 (2) 14 (3) 16 (4) 20

A number is three less than 4 times another number. If their sum is equal 1
117, then the greater number is :

UH GG UH gE0 HEH F AT H 3 FH Rl AG IR AT 117 F oG 7,
(1) 105 (2) 93 (3) 68 (4) 72

A sum of money doubles itself in 8 years at simplc interest. What would be rat
of interest?

wh o 8 o F meT S @ R A AT R, @R f oz o
(1) 12‘?: % (2) 12;'% (3) 12% (4) 3'?21%

If the English alphabet is written in reverse order, which one of the foiiowin
letter will be the 14th letter from the left?

afe iUt auimen # 32 FA 4 o s, @ Fofehaa 8 9 w3 90 =0 9
TYTT G B Y

(1) Q (2) M (3) P 4) O

Which one of the words given below is different from the rest?

(1) Mango (2) Pomegranate (3) Brinjal (4) Apple

frfofaa oo @ wedl § & #1970 § wew 27

(1) = (2) 3N (3) @™ (4) T
40
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125. Which one of the following is the same as Ghee, Cream and Butter?

(1) Sweets (2) Curd (3) Water (4) Wine
fefafaa o 4 #1736 wwr 2 o yer ff, v @ TwET 27

(1) firarem (2) @& (3) e (4) A

126. ‘House’ is related to ‘Shelter’, in the same way ‘Soap’ is related to which of the
following?
1y Perfume (2) Cleanliness  (3) Bathroom (4) Water

o vam W o @ weg g, I v e Prefdfed @ @ e wag 27

1) =g (2) HE=adl (3) EHTE (4) 91

127. Four persons A, B,C, D are playing cards. B and C are partners. D 1s facing
rowards South. Next to the right of D is B. Where A is facing?
11} South (2) North (3) West (4) East

an 1t A B,C,D W @9 ® % B 74 C T T ¥ D F Yg 2w i N
3 p % 4 ama gt i B 1 A fee Ram ot gr S A4 7

(1) 2fao (2) I (3) ufam (4) &

128. Ram is 9th from downwards in a class of 31 students. What will be his position
from upwards?

(1) 21st (2) 22nd (3) 23rd (4) 24th
. 31 ol % FE § A @ off W W R W @ IR fAAfy oA

(1) 214 (2) 22df (3) 234t (4) 244

94 41 (P.T.O.)
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129. If paper is called ink, ink is called pen, pen is called book, book is callcd
dictionary, dictionary is called water and water is called milk, then which of the
following is used for writing purposes?

(1) Water (2) Milk (3) Ink (4} Pen

I o B R F@ A R, W AW AW AWM R, G bl Yo dal A0
Waﬁmmm%,maﬂmmmaﬁqamm%_ﬁ:
freafafad & @ R @A & waemd v fen smom ?

(1) S (2) Q¥ (3) et (4)

130. Ifin a non-Leap Year it is Tuesday on 28th February, then what dav wi]] be on
28th March? ‘ |
(1) Friday (2) Sunday (3) Tuesday (4) Saturdav
afy uh H-fvEd ad 4 28 Wl F FEEAR R, @ 28 9 F oWy By oo
(1) Swaw (2) Ueam (3) AR (4) ofEm

(94) 42
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Section—II
Qus—II
Either
ENGLISH LANGUAGE TEST

Note : Four alternatives are given as possible answers to each question. Give the correct

choice as an answer.

Directions : (Question No. 131-134) Select the word nearest in meaning to the given

131.

132.

133.

134.

italic word.

Fallacy

(1) Truth (2) Loss (3) Error (4) Weakness
Consecrated

(1) Accepted (2) Hallowed (3) Barren (4) Forged
Nebulous

(1} Clear (2) Remote (3) Barren (4) Hazy
Muster

(1} Collect (2) Fire (3) Report (4) Separate

Directions : (Question No. 135-138) Select the word opposite in meaning to the given

135.

136.

194

italic word.

Catastrophic

(1} Ruthless (2) Negligible (3) Accurate (4) Pleasant
Quell

(1} Excite (2) Permit (3) Prevent (4) Pacify

43 (P.T.0.)
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137. Mettle

(1) Boldness (2) Timidity (3) Kindness (4) Mercilessness
138. Tacit

(1) Acknowledged (2) Ridiculed

(3) Spoken (4) Enlightened

Directions : (Question No. 139-142) Fill in the blanks with correct preposition,

bribery charges.

139. She was arrested

(1) for (2) in (3) on (4) at

140. They seem destitute ordinary human feelings.

(1) in (2) of (3) for (4) at
141. He has been debarred

appearing at the ensuing examination.
(1) at (2) of (3) for (4) from

her behaviour.

142. They were astonished
(1) at (2) of (3) for (4) from

Directions : (Question No. 143~146) fill in the blanks with the correct word.

143. If John the invitation, he would come here.

(1) will take (2) takes (3) received (4) receives
144, Two and two four.

(1) made (2) makes (3) have (4) has
(94) 44
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145. Army has been in the flood-affected areas.

(1) kept (2) put (3) confined (4) deployed

146. Recent events have opinion on educational matters.

(1) radicalized (2) focussed ‘{3) discharged (4) rendered

Directions : (Question No. 147 and 148) Identify the part having an error in the
following sentences.

147. (1) India wins
(2) the first one-day
(3) cricket match against Australia
(4} at Kanpur.

148. (1) This room is
(2) 15 feet long and 12 feet wide,
(3) if my mathematics

(4) 1s correct.

Directions : (Question No. 149 and 150) Select the option that best expresses the
meaning of the following idioms.

149, With flying colours
(1) Luxuriantly (2) Triumphantly
(3) Reverently (4) Passionately

150. Head over heels
(1) Thoroughly (2) Indecently (3) Leisurely (4) Humbly

94) 45 (P.T.0.)
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151.

152.

153.

154.

155.

(94)

Or
HAST
et wrar wfteron

u € wEl B | 3w I A |

urg i 79V F w9 A R e oo fi

. Freffian S (1), (2), (3) T (4) T % TH-a A I 0 W 3, o @

(1) 14 37T, 1950 (2) 14 FawR®, 1949
(3) 14 faawa, 1949 (4) 14 faawar, 1948
wg fi oo =t o fofy g e’ 9w dfam ¥ fee sl d @ om
27
(1) 343 (2) 372 (3) 380 (4) 390
Fr & @ al-d ww Faawr Rl § frdt s 27
(1) Tt (2) 3mfga (3) wE (4) fash
WG a4l # gAa i
(1) e (2) weftard (3) whanz @) e
fer 4 & @@ wee 2
(1) serats (2) o] (3) srefiemfin (4) arefromrshi
46
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156.

157.

158.

159.

160.

161.

162.

163.

164.

54|

TR & a8 Hiu-fredg @

(1) 981 + 27 (2) 981 + 3@ (3) WeH + I&
R v §t Fgafd & gar 7@ 9o 3% 7 FEd &7
(1} dHH (2) v (3) o

= 0§ FE-T1 e IS T 87

1) et (2) T (3) B

‘i’ weg TR @l 1 27

1) A (2) wg¥a (3) <t

Ty Wed I fadrgv-wy T RY

(1) uroifes (2) 9 (3) AT

TR T e wee ¢

(1) e (2) FerEn (3) ™

fq § 4 FH-W1 WeE AEE H wHEar @ 27

(1) e (2) H@ 3) afdy

g8 e # faEm R

(1) T (2) M (3) FHH

frmrea g whE @ Sed Aty # F w7

) ffEm (2) sreaEH (@) fafm
47
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(4) 7 + I
(4) g

(4) To

(4) 3T

(4) R

(4) a¥H

(4) afq

(4) ¥4

(4) fram

(P.T.O.)
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165. ﬁﬁ%ﬁm&ﬁmqméﬁmﬁﬁaﬁmﬁmﬁﬁﬁaaﬁﬁr@ﬁ?
(1) gfeae (2) I (3) uhuA (4) FTHTH

166. ‘TREM 7 WAR aren —3§ 3 # AT Tea ¥ R7
(1) had (2) HaFA (3) FaH (4) Fard

167. ‘M T FAT & 3 2
(1) =3 H FU FE (2) &0 s FW fawg A
(3) FB-g F faen & (4) saEE FA

168. 79 WAYER FEH & AGH ©

(1) gaeH (2) J9Eg
(3) wfor yHi (4) favaw 19 i ‘Fiivs

169. wHafaa ¥ fed |ivE (F08) 87

(1) 8 (2) 6 (3) 7 (4) 5

170. H@H fFas forsg 47
(1) THSTER (2) wearad (3) fFrarstam (4) TZvTET

L
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10.

11.

12.

13.

14.

svafat & foo few

(FH Eliﬁﬁﬂ + yuq # TU-YB W d4l 3N oUHodHe IT-TH ¥ 24 95 ™
¥ad et /Fet am-rmgz m oA @ )

W-giiﬂilﬁﬂﬁ% 30ﬁﬂl% Wﬁﬁﬁﬁﬁwﬂmﬂqﬁrﬂqﬁ?aﬁrm g a1
gz 78 21 (e vy WA W W YaA aE Fa-F0aE & E el e o

1feas TR F A |

gien wad H vdw-yq & sifakes, faen @ o #wE ol e @4 we no4oaukh

AloTHoFMe TW-T4 3 B f7n ™0 1 3@ 7 7t Wi antt 7 & faga &1 ZwU AoWodT0 F77-
gz 7@t far wram @ae stotHose IAT-q% &1 # yewmaa fam Avtm|

et ufafe wuw AEw-y8 W@ Al (Fwel 3 97 @ fuifta w9m w fad |

HoTHoHMo IW-U & WUW Y8 W U7 # Hum s Huifm o m ford am dr o 40

&1 M & F| gl -Fel NAvASH g qgl WA-YIErHT BT HHR UG Fvg KT T@ AYT §T B T4
Ffea wamt v ford

AloUHoHHo F-94 T ¥FMS GE4l, YHA-Yfea®H @& T 42 & (37 F3 8) a9 w
Tfiaa T SFAF Ho 3T MoWodMe IW-TA "o N ofafl # wfdtmy i smufy =4
sw ofafedl d &4 off ofads s Fhes gm wfE A af@m w=mm ae v agfe o
& I gEr SR

w4 0 Ul UR % 90 dFEE T P om # v’ we & defrus & B wms
ﬁﬂ@ﬂ&ﬂ?ﬂ m—ﬂ?ﬁm‘ﬁ\m&%% m’tﬁ ﬁa’ ﬂﬁ gﬁﬁ 3'}0@03?“13 m-—w:‘* g
w7 f2a ma fAdyi & sFEw 47T @ mE &

TRAF WA F IW F [0 FIA 0 @ g9 H Mg B @ A 3= oF: omm o ow own
T 47 F AQW WA W AR I 0edAd WA A

w3 3 B ovw 3w adl 2 sifEA I agen @ 1 g 21 IR sy feet wew @ 3w 9@ S aee
2 A wafua 9fF F o @ @ oft g9 # gt Sis 3 @ wE w o w5F o

% 4 & ford ww-yfeam ¥ gaye & o= wR gw aw sifam g8 mowemw w0

wt‘rzfﬂ #1 71 & A5 5l 3 S oo Iw-vA when FH /T § w4 (rias 31 Al 3| worg
I WY yE-IfEE a sfouHodne -1 H ufa & =W wEA B

T THH T A Ugd wften wed 8 @Rt 9 i safa 7@ ey

At #1§ sreaefl ofien # e el | v @ R, @ A% favatErem zm Guifg gz w R
= 2ty |
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